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Trees
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store elements in a

parent - child relationship .

Any tree has a special uppermostnode called then .

Each node (except the root )
has a unique parent .

Not : Not quite the same as in
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Practical examples : anything ufpacnt -

- child relationship( rather than linear )
. File systems : root

→ elf to ,n\sb=usr

• Family trees
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o Parse trees for
sentences or equations
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A general tree implementation :

Usually pointer based
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Depth :

Both defined recursively .
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Implementation :

a pointer based : 3 pointers
Node :
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Potential downside of array
:
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First date structure :

-

Priority
queues.

:

Operators : Given priority queue PQ :

• insert ( e , K) : adds e to PQ(Ifeanyi;?n¥¥g¥n:(plus size & amply )

Why would this be useful ?



How to implement ?
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Another way :

- keep date sorted
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Heats : A binary tree where :
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Insert

5*20
. ( not

2111
Tsaeh

5*1×0%130

. tree )

0,41*8*0^50li1 3¥
�2� @ 40¥06

. insert 4)
. inserted ) - breaks # 1

inserter )
" bubbignp

"



Remedy

'

#%@ @
/ I N

140 �6�

�3�5020¥
" Buch

"



Next He :

Coding a implement ng
!

will do
array based

.

why ?


